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Note: 1. Answer any FIVE full questions, choosing ¢ ONE full question from each module.
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Module~1 M| L C
Q.1 |a. | What does the term “Internet of things” denote? Mention the techmcal 10| L1 | CO1
challenges on those which IoT rehes on?
b. | Discuss the typical requlremeng of distributed control/MZM ] 10| L3 | CO1
Q.2 | a. | Discuss the scope of Invemct of Things. ’ Py 10 | L3 | CO1
b. | With a neat dlagram, ﬂlustrate the taxonomy of apphcatlons in the M2M | 10 | L3 | CO1
context.
Module — 2
Q3 |a. | List the propertles and requirements of M2M applications. 10 | L3 | CO2
s i, e
b. erfha sultable diagram, explaln M2M in 3-GPP archit cture 10| L2 | CO2
OR '
Q.4 |a. | Why the IoT standards" of the underlying technologles are nnportant‘? 10| L3 | CO2
Mention few areas in which standardization required?
b. | Write a short note.on : 10| L2 | CO2
i) IETF IPv6 Q\?%’Vlow power WPAN 11) ZigBee IP (ZIP)
_ < ~Module - 3 s
Q.5 |a. | Witha: né“at sketch, describe the interview of Zigbee protocol stack? 10| L2 | CO3
‘%A
b. | What-are capab111t1es 6 protocol‘? Write and explain the IPV6 pocket | 10 | L2 | CO3
mstructure -
. Ll OR
Q.6 |a. | What is NFC? Explain how the commumcatlon between interrogator and | 10 | L2 | CO3
NFC dev1ce takes place? ‘
b. Descrlbe thé IPv6 tunneling technique illustrating with the suitable | 10 | L2 | CO3
diagram.
Module - 4
Q.7 | a. | Write the domain model of the home intrusion detection system. 10| L2 | CO4
b. | Explain the deployment design of the weather monitoring system. 10| L2 | CO4
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OR
Q.8 | a. | Explain the information model, controls service and 10 | L2 | CO4
for the smart parking system? Illustrate with the suitab
b. | Write a program in python for the controller %ffve service for smart | 10 | L3 | CO4
parking. o Y
i & 4 s
Module - 5%, o
Q.9 | a. | Explain the functions of the key procesgg@%g of Hadoop with the nece 10| L2 | CO4
diagram. b
b. | What is Hadoop YARN? Explgjﬁ' tﬁ“& ey components of Y. 10 | L2 | CO4
- .7 OR P
Q.10 | a. | How does a Hadoop Map*Reduce workflow for batelranalysis of IoT data | 10 | L3 | CO4
works? Explain. : & N
s wt
b. | What are vario h level tools for data analysis supported by apache | 10 | L3 | CO4

spark? Discus§ mponents of spark c}w‘stei‘:.with a suitable diagram.
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